2RXS J121131.9-581655

gamm*meka

932720 0126

3 ;i 7
o o o
L o | L | i
(A93 s zwd)/suojoyd
T UL UL [TTTT
-
- bbbt 1 bbbt 1 [+
o — AV}
(@] |
— (@] o
i ]

(A®¥ s)/syuno)

1.00

Energy/keV

0.10

1.00

Energy/keV

0.10

QO — <+
353
2 g oo
N © 0
™ — (op]
| | |
+ + +
— o [aV) — <
T T 9 979
[ 3] [S] [ =1
[aV] (2] — — <
R
(aY] - -~ © ©
Il
() 1]
-
© — Il
S ] >
()
s % ' x E
. 2 = o
n [z, -4 B z
T T T[T T T[T T T]
- ——]
[ S i
N N
+
=SENEN I AN AN B A A =
[aV] o C}l
srenpisey

1.00

0.10

X%req = 1.327

Energy/keV



